


811xl + al2x2 + “135 + . . . . . . + alnxn  = dl

a215 + ‘.‘2~~2  + ar3x3  +  .-....  +  a2nxn= d2

(2.1) a31x1 + a32x2 + a33x3
+ .*... + a3nxn  = d3

.*......*....*.....,....,...........*.*....

an,x,  + an2x2  + an3x3  + . . . ...+  amen  = dn
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(2.2)

a21 a22 a23 l ** a2n

a34 a32  a33 l ** a3n

*I

x2

5

.

.

.

X
n

. . . .

. . . .

. . . .

a
Ill all2  %3 l ** aM dn

(2.3)

h.4

A =

AX= D

all al2 al3 l ** aln

a21 a22  a23 l ** a2n

a31 a32  a33 l ** a3a

. . . .
" . . .
. . . .

a
nl an2 "n3 ann

Ufl: D =

I-

dl

d2

d3
.
6
.

,dn  c

,x=

*I

*2

"3

.

.

.

Xn
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all a12 “13 \
=I1 al2 a13

A I=
=21 "22 az3

i

; A= =21 a22 =23

“ 3 1 a32  $3 a3l a32 a33
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u- u,,u2,u
I 3 ,...,  I). 111

#ll7unYl~;‘: Vector ut!hi  row vector ua=i  dimension

element  ViUWn 62

&II Column Vector LA

v1

v2 1

Y=

11

v3

V Il
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br 1i: d =1 2i i2 I=
a
[c

1
[2

4

L
3

5

#

2 1 f
4

d a
I 1d c

1 2 1 4 0 1

I 4 3 5 2 02 94 1 I
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2 35 li 1 2+
4 3 4

1 1[ 2+1 3+2=
4+3 5*4

a11

a21

a31

a12+ %2

a22+ b22 '

a32+  b32

pij]  + rbij]  = [‘ij] IntJ4  ‘ij  = aij + bij

.
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[aij] - [bij] = [‘ij  ] lnfJil ‘ij = aij  - biJ

hkd  2

‘12

a22  -

"32 I

2.3 m~wrif$
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bll b12[ 1b2l b22

kB I kbll kb12[ 1kb21 kb22
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A P
II all ?2* B3 = bll

1
b12 b13

i

AB=C  =
p11  ?2 531

,
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= allbll + a12b21

@&jfys
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mtzb%  cl3 = a,,b13'+  a,2b23
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qptailu  fiuamnmm ( Commutative Law of Addition )d

ile a+b = b + a

ng"vd~dfi~o3n~~~ai  ( Comdative Law of Multiplication 1

ila ab = ba

npnqrf'iiqBgnqr)J?n  ( Associative Law of Addition )

19 (a+b)+c  = a+(b+c)

ngn~~$iJ&ll!fHn~~p  ( Associative Law of Multiplication >

ila Cab)  c = a ( bc >

n$Vltn~ZVWl  ( Distributive Law) "nB

a(b+c)  = ab+ac

‘fW&  A + B =B+A  =

Associative  Law I ( A + B ) + C = A + ( B + C )
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Associative Law : (AB) c = A (BC)

A =

2
= all  ‘I + a22  4

Uar  ( X:A  ) x =
1:all  x1 a22 “2

xl

II 1

2
= all  II

2

x2
+ F22  “2
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c2E2P  0 0 '1 .I

EC215 27 _


